3 BRATRAICETIEREDRTRAGHE

BENRATAFHERERR (R 29 FEEH)

(1) ZEfemzk (C02)

HHER SE HEE - WEE mES = 128 3 ==
(6J) (1) (%)
AV 648,384 L 22 434 1,504 6.3
KT 36 853,233 L 31,314 2,125 A 05
23 241,413 L 9,101 623 A 69,6
I L‘:g AT 572,535 L 22386 1,552 A 10.9
*
o R H R 1,924,241 86, 206 4,291 A 17.9
¥
L, LPAHR 108, 491 kg 5 511 325 A 79.6
- LNG 2.721 kg 149 7 —
INEE 10, 427 A 26.4
*;% Eh 150, 765, 867 kWh | 1,491, 315 69, 873 A 26.4
o &t 80, 300 A 26.4
_ﬁiﬁf*ﬁ ETSRFuY 36,190 t - 100, 066 34.2
st 180, 366 A8
(2) A5 (CHo)
= = FRI25EEL
HHER N REE RER o 5 2
(t-CH4) (t-C02) (%)
B RS 00 0 —
REEE
BENEEST 0.1 1 A 66.7
Tk I FKE 714 1,499 50
—BEREYEN | —BEEVENE 0.2 4 00
SHIRBEAD FiRBEA = 0.0 0 —
s 71.7 1,504 48
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(3) —Eie==x (N20)
= = TRl 25FEELE
HHER ZaY:4 REE REE e 3 3=
(t-N20) (t-C02) (%)
EE RS 00 0 —
PREHE
BEEET 0.1 29 A 547
FREL — 0.4 112 455
TFokanE WMIBTRKE 13.0 4,022 5.0
—REEYER | —REEYEANE 12.7 3,952 114
SHIRBEAD HiEBEA = 0.0 0 —
s 26.2 8,115 7.9
4) N rFoz)Aoh—1R> (HFC)
HFIEH% Eﬁlﬂ%& %HEE %HEE i§ﬁ$

(&) (t-HFC) (t-C02) (%)

j;:fgg; 667 0.01 9 A 308
(5) BREMDREARBHEHE
HWHEHE R 25F FE L g
(t) (%)
189,994 A1l4
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